
Step 4
Skirt and sheet metal screws

Step 1
Acres Tracking Unit,
CPA4045L, and existing
Nuts

Step 2
3 M3 Nuts, M3 Screws,
and Washers

Assembled CPA4045L w/ Acres Tracking Unit

Installation Instructions:

Attach Acres Player Tracking Unit to CPA4045L1.
        with three nuts from existing monitor.

Install assembled CPA4045L abd Acres Tracking Unit2.
        to bartop door using three (3) supplied M3 nuts and 
        M3 screws and washers from existing monitor .

Attach Acres Tracking Unit wiring harness as before.3.
Install skirt as shown with four (4) supplied sheet metal4.

        screws.

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

RE
V

C
PA

40
45

L 
In

st
al

l
D

AD
SIZE

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
Ceronix Inc.  ANY REPRODUCTION IN
PART OR AS A WHOLE WITHOUT THE
WRITTEN PERMISSION OF Ceronix Inc.
IS PROHIBITED.

DRAWN BY

CPA4045L Install
DWG.  NO.

DATE

CPA4045L Intallation
Instuctions

09/25/08

REVISIONTOLERANCES APPROVED

DATE

09/25/08

CUSTOMER

DATE

09/25/08

09/25/08Recessed Bartop

Ceronix

CHECKED

D. Tostenson

CERONIX INC.

CPA4045LPROPRIETARY AND CONFIDENTIAL

DATE

SCALE: 1:2

MONITOR PART NUMBER

ENGINEER

WEIGHT: SHEET 1 OF 1

TITLE:

13350 New Airport Road
Auburn, CA 95602-7419
Tel. 530 886-6400
Fax 530 888-1065
www.ceronix.comD. Whitaker

See Notes D. Whitaker

D. Tostenson
PROGRAM NAME

djt/dw09/25/08Initial ReleaseCPA4045L.sldasmCPA4045L Install.slddrwN/AA

REVISIONS
DESCRIPTIONREV DATE APPROVEDFAB CAD FILE Drawing File NATIVE CAD FILE

THIRD ANGLE PROJECTION


	Sheet1
	Drawing View2
	Drawing View3


